
AQUARIAN PARTS LIST
(PROFESSIONAL)

7

1

4

2

3

8

9

6

5

1/1/20

12

6

7

13

10

13

11

PART DESCRIPTION PART NUMBER
1/2HP,115V,60HZ,2 WIRE 4924450490
1/2HP,230V,60HZ,2 WIRE 4924450590
1.0HP,230V,1PH,60HZ 4921450890
3/4HP,230V,3PH 4923451292
3/4HP,460V,3PH 4923452294
1.5HP,230V,3PH 4923451492
1.5HP,460V,3PH 4923452494

FOR 1/2 HP ONLY
PART DESCRIPTION PART NUMBER
WIRE ASSY,2 WIRE,115,50 90WE211550
WIRE ASSY,2WIRE,115V,100' 90WE2115100
WIRE ASSY,2WIRE,115V,150' 90WE2115150
WIRE ASSY,2WIRE,230V,50' 90WE223050
WIRE ASSY,2 WIRE,230V,100' 90WE2230100
WIRE ASSY,2 WIRE,230V,150' 90WE2230150

11 MOTOR LEAD ASSY, WIRE 90MLA2
12 GFCI,WIRE,115V 90ELCI12430
13 GFCI,WIRE 230V 90ELCI26140

1 DIFFUSER 1 12DFGLV80
2 NUT,NLYON LOCK 5/16-24 4 18078500
3 WASHER,FLAT,5/16" 4 18079025
4 PROPELLER 1 SEE INSERT
5 MOTOR, FRANKLIN 1 SEE INSERT
6 WIRE ASSY 1 SEE INSERT
7 CONTROLS 1 SEE INSERT
8 WASHER HEAD 10-24X1/2" 2 18TC122412WH
9 SUPPORT TUBE, 25" 1 90TS75X25

14 WASHER,SPECIAL FLAT 4 18656400045

PART DESCRIPTION PART NUMBER
WIRE ASSY,50'3 WIRE,230V 90WAFSC50
WIRE ASSY,100',3 WIRE,230V 90WAFSC100
WIRE ASSY,150',3 WIRE,230V 90WAFSC150
WIRE ASSY,50'3 WIRE, 460V 90WAFSC506
WIRE ASSY,100',3 WIRE,460V 90WAFSC1006
WIRE ASSY,150',3 WIRE,460V 90WAFSC1506

10 MOTOR LEAD ASSEMBLY,3WIRE 90MLA

PART DESCRIPTION PART NUMBER
1/2 & 3/4HP, PROPELLER 90PR4X275
1 & 1.5HP PROPELLER 90PR5X275

FOR 1HP ONLY
PART DESCRIPTION PART NUMBER
CONTROL BOX,1HP,230V,1PH 5828240850

FOR 3 PHASE ONLY
PART DESCRIPTION PART NUMBER
CONTROL BOX ASSY,3/4,230V,3PH 90CBA342303
CONTROL BOX ASSY,3/4,460V,3PH 90CBA344603
CONTROL BOX ASSY,1..5HP,230V,3PH 90CBA152303
CONTROL BOX ASSY,1.5HP,460V,3PH 90CBA154603



AQUARIAN PROFESSIONAL PARTS LIST 5/27/2022

ITEM NO. PART NO. DESCRIPTION PRICE

1 12DFGLV80 DIFFUSER 210.00
2 18078500 NUT, NYLON LOCK 5/16-24 0.50
3 18079025 WASHER, FLAT 5/16 0.20
4 90PR4X275 PROPELLER, 1/2HP & 3/4HP 62.00

90PR5X275 PROPELLER, 1HP & 1.5HP 62.00
5 4924450490 MOTOR, 1/2HP, 115V, 1PH, 60Hz, 2 WIRE, WL 870.00

4924450590 MOTOR, 1/2HP, 230V, 1PH, 60Hz, 2 WIRE, WL 870.00
4921450890 MOTOR, 1.0HP, 230V, 1PH, 60Hz, 3 WIRE, WL 835.00
4923451292 MOTOR, 3/4HP, 230V, 3PH, 60Hz, 3 WIRE, WL 781.00
4923452294 MOTOR, 3/4HP, 460V, 3PH, 60Hz, 3 WIRE, WL 781.00
4923451492 MOTOR 1.5HP, 230V, 3PH, 60Hz, 3 WIRE, WL 1,081.00
4923452494 MOTOR 1.5HP, 460V, 3PH, 60Hz, 3 WIRE, WL 1,081.00

6 90WE211550 WIRE ASSY. 2W, 115V, 50' W/MOTOR LEAD & ELCI 265.00
90WE2115100 WIRE ASSY. 2W, 115V, 100' W/MOTOR LEAD & ELCI 400.00
90WE2115150 WIRE ASSY. 2W, 115V, 150' W/MOTOR LEAD & ELCI 535.00
90WE223050 WIRE ASSY. 2W, 230V, 50' W/MOTOR LEAD & ELCI 330.00
90WE2230100 WIRE ASSY. 2W, 230V, 100' W/MOTOR LEAD & ELCI 465.00
90WE2230150 WIRE ASSY. 2W, 230V, 150' W/MOTOR LEAD & ELCI 600.00
90WAFSC50 WIRE ASSY. 3W, 50' W/MOTOR LEAD 230.00
90WAFSC100 WIRE ASSY. 3W, 100' W/MOTOR LEAD 375.00
90WAFSC150 WIRE ASSY. 3W, 150' W/MOTOR LEAD 520.00
90WAFSC506 WIRE ASSY, 3W, 50', 600V 305.00
90WAFSC1006 WIRE ASSY, 3W, 100', 600V 505.00
90WAFSC1506 WIRE ASSY, 3W, 150, 600V 705.00

7 5828240850 CONTROL BOX, 1HP, 230V, 1PH 165.00
7 90CBA342303 CONTROL BOX ASSY, 3/4HP, 230V, 3PH 490.00

90CBA344603 CONTROL BOX ASSY, 3/4HP, 460V, 3PH 490.00
90CBA152303 CONTROL BOX ASSY, 1.5HP, 230V, 3PH 490.00
90CBA154603 CONTROL BOX ASSY, 1.5HP, 460V, 3PH 490.00

8 18TC122412WH SCREW, WASHER HEAD 10-24X1/2 1.50
9 90ST75X25 SUPPORT TUBE, 25" 45.00
10 90MLA MOTOR LEAD ASSY, 3W W/BUTT CONN & HEAT SHRINK 65.00
11 90MLA2 MOTOR LEAD ASSY, 2W W/BUTT CONT & HEAT SHRINK 65.00
12 90ELCI24230 EQUIPMENT LOSS INTERRUPTOR, 115V 70.00
13 90ELCI26140 EQUIPMENT LOSS INTERRUPTOR, 230V 130.00
14 18656400045 WASHER, SPECIAL FLAT 0.40



AQUARIAN PROFESSIONAL
SUB ASSEMBLIES

5/27/2022

ITEM NO. PART NO. DESCRIPTION PRICE

90DFGLV80 DIFFUSER ASSEMBLY (Items 1-3) 210.00
90FA36 FLOAT 36" 345.00
90PG5X10 PROP GUARD 62.00
58155202101 MOTOR STUD 1/2HP - 2HP 4.00
58305974919 SHAFT SLINGER w/SPLINE WASHER 1.85
90TR221 TIME CLOCK, 115 VOLT W/NEMA 3R 220.00
90TR221-3 TIME CLOCK, 230 VOLT W/NEMA 3R 220.00
90ST75X25 SUPPORT TUBE ASSEMBLY (Items 8 & 9) 45.00
90SPK3W SPLICE KIT FOR 3W POWER CORD, 2W MOTOR 15.00
90SPK4W SPLICE KIT FOR 4W POWER CORD, 3W MOTOR 15.00
90AQPCQDKIT AQ POWER CABLE QUICK DISCONNECT KIT 395.00
09DXR30 DE-ICING KIT, SLING TYPE, 15' (2 EA) 30.00

15SJEOW123 WIRE, 12/3 SJEOW, 300V (price per ft.) 2.70
15SJEOW12-4 WIRE, 12/4 SJEOW, 300V  (price per ft.) 2.90
15SEOW10-4 WIRE, 10/4 SEOW, 600V  (price per ft.) 5.00
15SEOW12-4 WIRE, 12/4 SEOW, 600V  (price per ft.) 4.00

15B3RV19231C ENCLOSURE OFF/ON SWITCH FOR MSP21 155.00
15MSP21-IEA10 MOTOR STARTER PROTECTOR 3/4HP, 230V, 3PH 345.00
15MSP21-IBA10 MOTOR STARTER PROTECTOR 3/4HP, 460V, 3PH 345.00
15MSP-1GA10 MOTOR STARTER PROTECTOR 1.5HP, 230V, 3PH 350.00
15MSP21-1DA10 MOTOR STARTER PROTECTOR 1.5HP, 460V, 3PH 350.00

90AQ5115PRO AQ PRO POWER DRIVE ASSY 1/2HP, 115V, 1PH 925.00
90AQ5230PRO AQ PRO POWER DRIVE ASSY 1/2HP, 230V, 1PH 925.00
90AQ1230PRO AQ PRO POWER DRIVE ASSY 1HP, 230V, 1PH 1,025.00
90AQ342303PRO AQ PRO POWER DRIVE ASSY 3/4HP, 230V, 3PH 1,195.00
90AQ344603PRO AQ PRO POWER DRIVE ASSY 3/4HP, 460V, 3PH 1,195.00
90AQ152303PRO AQ PRO POWER DRIVE ASSY 1.5HP, 230V, 3PH 1,325.00
90AQ154603PRO AQ PRO POWER DRIVE ASSY 1.5HP, 460V, 3PH 1,325.00

* NOTE:  UNIT LESS FLOAT, WIRE, CONTROLS & SUPPORT TUBE

PROFESSIONAL UNIT WITH QUICK DISCONNECT
90MLA2AQ MOTOR LEAD ASSY, 48",2W W/PVC & WIRE NUTS (STD) 70.00
90MLA4AQ MOTOR LEAD ASSY, 48",3W W/PVC & WIRE NUTS (STD) 70.00




